
dz0 ftyk dk 
uke 

vapy dk 
uke 

jktLo xzke 
dk uke 

ipkZ/kkfj dk 
uke 

Hkwfe dk izdkj [kkrk 
usa0 

[ksljk ua0 jdok 
ua0 

mrj nf{ku iq0 i0 Hkwfe vkoaVu                     
fd                           
frfFk 

ekSfyd :Ik 
ls n[ky 
@dctk 
fnykus dh 
dk;ZokbZ fd 

frfFk

nkf[ky 
[kkjht 
@yxkku 

fu/kkZju fd 
frfFk ftu 
ekeyks ls 
tekoanh 
ugh [kqfy 

gS 

vH;qfDr

1 ckadk ckSalh ljS;k enu 
ikloku is0 

egknso 
ikloku 

xSj etq:vk ekfyd 89 435]467]480 1.00 xSj 
et:vk 
ekfyd 

xSj 
et:vk 
ekfyd 

xSj et:vk 
ekfyd 

xSj 
et:vk 
ekfyd 

88@89 flekadu 
djk dj 
n[ky 

fnyk;k x;k 

tek oanh 
py jgk 

gSA 

2 ckadk ckSalh dq'kekgk eStks gfjtu 
is0 ,rokjh 
gfjtu 

xSj etq:vk ekfyd 162 243 0-60 xaxk lkg ]vtqZ.k 
elkr 

] flaxks 
jkmr

MkM+ 6@88&89 ugj esa 
tfeu pyk 
x;k gS Hkq 
vtZu ds 
rgr 

dk;Zokgh py 
jgk gSA  

3 ckadk ckSalh xksYgVh  xksfou 
gfjtu is0 
dSyq gfjtu 

cUnksoLrh xSj 
etq:vk ekfyd 

65 398 0-60 jke ukFk fogkj 
ljdkj 

fogkj 
ljdkj 

lgnso 70@71 lquokbZ 
mijkar 
ekeyk 

U;k;ky; ls 
lacaf/kr gSA 

vxzsrj 
dk;ZokbZ gsrq 
Hkqfe lw/kkj 
mi lekgrkS 
ckadk ds ikl 
Hkstk tk jgk 

gSA

izi=& III
vapy&ckSalh



4 ckadk ckSalh xksYgVh  jkeukFk 
gfjtu is0 

f'kou 
gfjtu 

cUnksoLrh xSj 
etq:vk ekfyd 

65 398 0-61 fogkj 
ljdkj 

fogkj 
ljdkj 

cka/k fcgkj 
ljdkj 

70@71 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

lquokbZ 
mijkar 
ekeyk 

U;k;ky; ls 
lacaf/kr gSA 

vxzsrj 
dk;ZokbZ gsrq 
Hkqfe lw/kkj 
mi lekgrkS 
ckadk ds ikl 
Hkstk tk jgk 

gSA

5 ckadk ckSalh xksYgVh  oklqnso 
gfjtu is0 
daxkfy 
gfjtu 

cUnksoLrh xSj 
etq:vk ekfyd 

169 264 0-29 fogkj 
ljdkj 

fogkj 
ljdkj 

fcgkj 
ljdkj 

fcgkj 
ljdkj 

70@71 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

lquokbZ 
mijkar 
ekeyk 

U;k;ky; ls 
lacaf/kr gSA 

vxzsrj 
dk;ZokbZ gsrq 
Hkqfe lw/kkj 
mi lekgrkS 
ckadk ds ikl 
Hkstk tk jgk 

gSA

6 ckadk ckSalh fpydkjk 
Vksyk 

dq'koj.kk

o`tyky VwMw 
firk Hkhe 

VwMw

XkSjetw:vk ekfyd 181 4065 1.00 & & & & 1¼9½ 88-89 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

7 ckadk ckSalh fpydkjk 
Vksyk 

dq'koj.kk

lksukyky 
VwMw  firk 
yks/kks VwMw

XkSjetw:vk ekfyd 181 4065 1.00 & & & & 1¼9½ 88-89 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

8 ckadk ckSalh fpydkjk 
Vksyk 

dq'koj.kk

dudyky 
VwMw firk 
cq/kjk; VwMw

XkSjetw:vk ekfyd 181 4065 1.00 & & & & 1¼9½ 88-89 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 



9 ckadk ckSalh fpydkjk 
Vksyk 

dq'koj.kk

eukst VwMw 
firk vtqZu 

VwMw

XkSjetw:vk ekfyd 181 - 1.00 & & & & 1¼9½ 88-89 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

10 ckadk ckSalh fpydkjk 
Vksyk 

dq'koj.kk

ccyw VwMw 
firk pqM+dk 

VwMw

XkSjetw:vk ekfyd 181 4065 1.00 & & & & 1¼9½ 88-89 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

11 ckadk ckSalh fpydkjk 
Vksyk 

dq'koj.kk

lqtku VwMw 
NksVs cM+dk 

VwMw

XkSjetw:vk ekfyd 181 4065 1.00 & & & & 1¼9½ 88-89 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

12 ckadk ckSalh fpydkjk 
Vksyk 

dq'koj.kk

f'koyk VwMw 
firk paM+dk

XkSjetw:vk ekfyd 181 4065 1.00 & & & & 1¼9½ 88-89 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

13 ckadk ckSalh fpydkjk 
Vksyk 

dq'koj.kk

yksFks VwMw 
firk NksVS 
cM+dk VwMw

XkSjetw:vk ekfyd 181 4065 1.00 & & & & 1¼9½ 88-89 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

14 ckadk ckSalh fpydkjk 
Vksyk 

dq'koj.kk

thru VwMw 
firk vtqZu 

VwMw

XkSjetw:vk ekfyd 181 4065 1.00 & & & & 1¼9½ 88-89 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

15 ckadk ckSalh fpydkjk 
Vksyk 

dq'koj.kk

lksej VwMw 
firk vtqZu 

VwMw

XkSjetw:vk ekfyd 181 4065 1.00 & & & & 1¼9½ 88-89 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 



16 ckadk ckSalh fpydkjk 
Vksyk 

dq'koj.kk

NksVsyky 
VwMw firk 
yksok VwMw

XkSjetw:vk ekfyd 181 3780 1.00 & & & & 1¼9½ 88-89 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

17 ckadk ckSalh dq'kojuk udqy Bkdqj 
is0 fgryky 

Bkdqj 

canksoLrh xSjetqjvk 181 4065 1.00 4065 va'k 4065 va'k 4065 va'k gfjgj 
Bkdqj 

89&90 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

18 ckadk ckSalh dq'kojuk gfjgj 
Bkdqj is0 
fgryky 
Bkdqj  

canksoLrh xSjetqjvk 181 4065 1.00 4065 va'k 4065 va'k 4065 va'k 1040 89&91 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

19 ckadk ckSalh eatjdksyk rqes gsEcze XkSjetw:vk ekfyd 7 167 1 & & & & yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

20 ckadk ckSalh taxy iqjk tsBk ejaMh XkSjetw:vk ekfyd 17 198 4.25 & & & & yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

21 ckadk ckSalh eatjdksyk yD[kh 
gsEcze

XkSjetw:vk ekfyd 7 122 1.00 & & & & yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

22 ckadk ckSlh dq'kekgk Xkstks 
gjhtu is0 
,rokjh 
gjhtu 

canksoLr xSj 
etq:ok ekfyd 

162 58 0..70 jlks elkr & & & yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 



23 ckadk ckSalh xksYgVh oklqnso 
gfjtu is0 
csxkfy 
gfjtu 

canksoLrh xSjetqjvk 169 264 0.29 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 

24 ckadk ckSalh dq'k;kjh vfuy jtd 
is0 jkQy 
jtd

canksoLrh xSjetqjvk 109 1599 0.50 yky >aMk 
xkM dj 
n[ky 

fnyk;k x;k 


